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Directions (Q. 1-5):Read the following passage carefully and answer the questions given below it. 
Since the most ancient times  India has been not only periodically invaded by greedy hordes, but 
also visited by tradesmen and travellers, scholars and sight-seers.  Some of them have written 
books.  The books of these writers become all the more important because there were not too many 
of them; and they have served as rich sources for the historian.  It is especially in this context that 
observations  provided by the great Chinese writer Hiuen Tsang become very relevant. 

Already in the 7th century, Buddhism was a powerful cultural force among the educated 
classes of China.  It was common for Chinese pilgrims to come to India, the native land of the 
Buddha, to pay their respects to the founder of their religion.  Perhaps the most famous of them all 
was this gentle observer who had studied and travelled extensively in China before entering the 
Indian subcontinent.  Being both scholar and sophisticated, he was not given to easy praise.  Within 
India itself he traversed deserts and climbed mountains, stayed in villages and lived in capitals, 
practiced in monasteries and studied in universities, and spent time in some royal courts as well. 

He went to Mathura and Ayodhya, to Prayag and Pataliputra, to Gaya and Kamarupa.  He 
studied Sanskrit and Pali to delve deeper into Buddhist philosophy and Hindu traditions.  Most 
important of all, he wrote down in detail his many experiences and impressions. 
 

1. The writing of Hiuen Tsang appears to be objective because 
A) he was learned and cultured 
B) he had visited China and could compare it with India 
C) he had great respect for India 
D) he was basically a historian 

 

2. What probably prompted Hiuen Tsang to travel to India? 
A) To study  influence of Buddhism  on Hindu religion 
B) To spread  his religion in India 
C) To undertake  pilgrimage and enhance  knowledge 
D) To study the powerful cultural force in  India 

3. As per the passage, which of the following  cities was NOT visited by Hiuen Tsang? 
A) Mathura  B) Varanasi  C) Gaya  D)  Pataliputra 

 

4. Which of the following  has been considered  as the real contribution of Hiuen Tsang? 
A) He meticulously  recorded his experiences and feelings 
B) He visited  and spent time  in many places in India 
C) He pointed out the impact of  Hinduism on Buddhism 
D) He influenced elites in China  to visit India 

 

5. Hiuen Tsang did all of the following during his travel in India except 
A) travelled in  deserts    B) lived in villages 
C) followed the schedule  in monasteries  D) taught in the universities 

 

Directions (Q. 6 - 9):  Choose the correct synonyms of the following words out of the four 
given options: 

6. Impecunious 
A) Rich   B) Poor  C) Determined  D) Irrelevant 

 

7. Lassitude 
A) enemy   B) weariness  C) courage  D) restlessness 

 

8. Implore 
A) to entreat   B) to ignore  C) to criticize  D) to wait 

 

9. Genial 
A)  general   B)  precious  C) angry  D) friendly 

 

Directions (Q. 10 - 13):  Mark the correct opposite of the given word out of four options: 
10. Implicate 
 A) to advise   B) to absolve  C) to authorize D) to cut 
 

11. Menacing 
 A) Attraction   B) Dark  C) Threatening D) Auspicious 
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12. Perpetual 
 A) Transitory   B) Contempt  C) Practical  D) Beautiful 

13. Noble 
 A) unnovel   B) innovel  C) nobleless  D) ignoble 

Directions (Q. 14 - 16):  Mark the correct preposition to be filed in the blanks out of four 
given options: 

 

14. Rita  is ignorant _______  her mistake  
 A) of     B) to   C) for   D) at 
 

15. His speech was appropriate _______ the occasion. 
 A)  upon   B) to   C) about  D) for 
 

16. Arun should try to bring Ritu  round _____ his views. 
  A) with   B) to   C) about  D) upon 
 

Directions (Q. 17 - 19): Select the correct meaning of the given idioms: 
17. Beat about the bush 
 A) tell lies      B) speech the truth 
 C) say things in a round about fashion  D)  attack the enemy 
 

18. To rest on one’s  laurels 
 A)  to engage oneself in great enterprises  B) to retire from active life   
 C) to wander without any aim    D) to waste one’s time 
 

19. To bring down the house 
 A) to dismantle a building    B) to reconstruct a building   
 C) to ruin somebody’s life    D) to draw applause 
 

Directions (Q. 20 - 22):  Identify the word that is spelt correctly. 
20. A) Amature  B) Amateur  C) Amachure  D) Amatuer 
 

21. A) Conscientous B) Concientous C) Consientous D) Conscientious 
 

22. A)  Hippocrate B) Hypocrate  C) Hypocrite  D) Hippocrait 
 

Directions (Q. 23 - 25):  Mark  the correct sentence out of the four given options: 
 

23. A) He looks like his mother.   B)  He is  like  his  mother  in the face. 
 C) He resembles  with his mother.  D) He resembles his  mother. 
 

24. A) The mother  is setting the table.  B) The mother is placing the table. 
 C) The mother is laying  the table.  D)  The mother is putting  the table.   

25. A) I rarely go to my village.   B) I scarcely go to my village. 
 C) I hardly go to my village.   D) I go to my village very less. 
 

26. Who was the first Indian to be selected to the British Parliament? 
 A) Dadabhai Naoroji      B) G.K. Gokhale C) Bipin Chandra Pal        D) Lala Lajpat Rai 
  

A) B) C) D)  
 

27. Theme of World Earth Day 2025: 
 A) Planet vs.  Plastics    B) Restore our Earth 
 C) Our Power,  Our  Planet   D) Invest in our Planet 

A) B) 
          C) D)  
 

28. The organ in the body which accumulates iodine is 
A) Pituitary gland B) Thymus  C) Thyroid Gland D) Spleen 

A) B) C) D) 
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29. According to Global Hunger Index 2024, India’s rank out of 127 countries is: 
 

A) 103   B) 105   C) 108   D) 111 
 

30. The theme of National Technology Day 2025 was : 
 A) National Technology for National Well Being 
 B) From Schools to Startups; Igniting Young Minds to Innovate 
 C) Indigenous Technologies for Viksit Bharat 
 D) Empowering  a sustainable tomorrow through innovation 

A) 
B) 
C) 
D)
 

31. Indira Gandhi Prize for Peace, Disarmament  and Development for 2024 has been given to : 
 A) Ali Abu Awwad & Daniel Barenboim  B) Michelle  Bachelet 

C) The Trained Nurses Association of India  D) Pratham NGO 

A) B) 
   C) D) 

32. Which of the following actors was honoured with Dadasaheb Phalke Awards-2024 
 A) Manoj  Kumar B) Anupam Kher C) Mithun Chakravarty D) Dharmendra 
  

A) B) C) D) 
 

33. Superconductivity is a material property associated with: 
 A) cooling a substance  without a phase change B) frictionless  liquid flow 
 C) a loss of thermal  resistance   D) a loss of electrical  resistance 
  

A) B) 
C) D) 

 

34. Preamble of the Indian Constitution has been amended: 
 A) Once  B) Twice  C) Thrice  D) Never 
  

A) B) C) D) 
 

35. Which of the following player won Player  of  the  Tournament  award  of  ICC Champion 
Trophy   2025: 

 A) Travis Head          B) Virat Kohli  C) Rohit  Sharma        D) Rachin  Ravindra 
  ICC 

A) B) C) D) 
 

36.  ‘Sambal’ and ‘Samarthya’  are two sub-schemes of: 
 A) Mission Betiyan Bane Kushal  B) Mission NACTER 
 C) Mission Shakti    D) Mission Vatsalya 
  

A) B) NACTER C) D) 
 

37. Who coined the term ‘software’? 
 A)  Howard Aiken B) John Tukey  C) John Backus            D)  John Atanasoff 
  

A) B) C) D) 
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38. Who founded WhatsApp? 
 A) Brain Acton and Jan Koum  B)  Steve Chen and Brian Acton 
 C) Charlie Cheever  and  Jan Koum  D)  Steve Chen  and Charlie  Cheever 
  

A) B) 
C) D) 

 

39. What  is  the Altitude  of  Chandigarh ? 
 A) 204-265  meters above  MSL  B) 254-365  meters above  MSL 

C) 304-365  meters above  MSL  D) 403-465  meters above  MSL 
  

A) MSL B) MSL

C) MSL D) MSL
 

40. The  term  Bit  is  short  for  : 
Bit  

 A)  Binary  Digit    B)  Binary  number  
C)  Binary  Language         D)  Binary  Integrated   Text 

 

41. In which  Seismic Zone is the Union Territory of Chandigarh situated:  
  
 A) III   B) IV   C) V   D) VI   

42. Development that meets the needs of the present without compromising  the ability of future 
generations to meet their  own needs is : 

 A) Human Development   B) Sustainable Development 
 C) Steady State Development   D) Holistic Development 

A) B) C) D) 
 

43. What is the base year of All India Consumer Price Index? 

 A) 2011  B) 2012  C) 2014  D) 2016 
 

44. The Industrial development of India began with the introduction of: 
 A) Railway     B) Textile Mills  

C) Mining Technology   D) Post and Telegraph 

A) B) C) D) 
 

45. The joint sitting  of the Indian Parliament is presided over by: 
 A) President      B) Prime Minister   

C) Chairman of Rajya Sabha   D) Speaker of Lok Sabha 

A) B) C) D) 
 

46. International  Hospitality day   is  celebrated  on : 
 

A)  24th April   B) 27th  April  C) 29th April  D) 11th   May  
  
 

47. Who is usually credited for coining the term Artificial Intelligence (AI) ? 
A)  Arthur Samuel B) Gottfried Achenwal    C) Isaac Asimov D) John McCarthy 

  AI

A) B) C) D) 
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48. The ‘Beating The Retreat’ ceremony which marks the culmination of Republic Day 
celebrations is held on:  

  
A)  January 27  B) January 28  C) January 29  D)  January 30 

 

49. The  McMahon line is  a border between :  
A)  India   & Pakistan   B)  India  & Bangladesh   C)  India  &  Nepal    D)  India  &   China 

  

A) B) C) D) 
 

50. Who  composed The National  Antham ‘Jana Gana  Mana……’ 
 ….  

 A)  Uday  Shankar    B)  Bankim  Chandra Chattopathyay  
 C)  Rabindra  Nath  Tagore   D)  Sarojini  Naidu 
  

51. Which of the following statement(s) is/are true? 
 1.Every whole number  is a natural number. 
 2.Every   integer is a rational number. 
 3.Every rational number is an integer.  
  

1 
A) Both 2 and  3  B) 2   C) 3   D) 1

 

52. Which of the following number is not divisible by 11 ?    
 

 A) 1735624  B) 752563  C) 1661308  D) 1904529 
 

53. Find the value of question mark?   
 
(7)3 
      C) 7   D) 4 

 

54. Find the value  of question mark ( ?)   
 

6   
A) 13   B) 12   C) 14   D) 11   

  
55. Which fraction among the following is the least?     

  

,
11

5

 
,

12

7

 
,

13

8

 17

9
 

 A) 
11

5
   B) 

12

7
   C) 

17

9
   D)  

13

8
 

 

56. Find the LCM of  ,
4

3

9

8
  and  

5

3

   
 

,
4

3

9

8

5

3
LCM  

 A) 20     B) 24     C) 
24

1
    D)  

20

1
   

57. Find the value of  given expression       
  

[ 76 – {90 5  (24 – 36 3)3}] 
 

A) 71.5  B) 75.5  C)  4   D) 77.5 
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58. is
)]26(12[–)1012(159

)]212(6[8–8]4)5–3[(–12
  ofvalueThe




  

 A) 42   B) 
17

21
   C) 48   D) 

4

3

 

59. The average weight of  R,  P and  K is 40 kg. If the average weight of P and K is 45 kg and 
average weight  of R and K is 35 kg, then what is the weight of K?      
R  P K kg. P K Kg. R K

Kg. K

A) Kg. B) Kg. C) Kg. D) Kg.
60. In nine innings of cricket, the average of a batsman is 58 runs.  How many runs does he 

need to make in the tenth innings to get the average score 61?   

 
 A) 88   B) 69   C) 79   D) 100 
 

61. Salaries of Shailesh and Ramesh are in the ratio 2 : 3.  If the salary of each is increased  by         
₹ 2000, the new ratio becomes  40 : 57. What is Ramesh’s present salary?  

 
 A) ₹ 34000    B) ₹ 25500     C) ₹ 17000  D)  ₹ 20000 
 
 

62. The present ages of Rohan and Soham are in  the ratio of  14:17.  Six year, from now their 
ages will be in the ratio of 17: 20.  What is Soham’s present age  (in years) ?  

 
 

 A) 17    B) 51    C) 34    D) 28   

63. The price of a car increases successively  by 5%, 10% and 20% respectively.  What is the 
equivalent change in the price?  

5%  10% 20%
 

 A) %
5

4
34   B) %

5

1
32   C) %

5

3
38   D) %

5

3
33

 

64. By selling 64 apples for ₹ 60 a person gains 25%.  In order to have 40%  loss, how many 
apples shall he sell for ₹ 36? 

% %

  A) 80   B) 70   C) 60    D) 50 

65. A store is running a ‘Buy 4 Get 1 Free’ promotion scheme. What is the net discount 
percentage?     

 
 A) 20 %  B) 15%  C)  22 %  D) 18.5 % 

66. A  started a business with the capital of ₹ 1800.  After 4 months, B joined with ₹ 3600.  
6 months after from the business started,  C joined with ₹ 1200.  If the  total profit earned at 
the end of the year is ₹ 1760, then what is the share (in ₹) of A ?   
A B

C  
A

 A) 540     B)  660  C) 840   D) 720 
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67. What will be the difference between the interest on a sum of ₹ 2000 at 7%  per annum for 3 
years and that on a sum of ₹ 3200 at 6% per annum for 2 years?  

% %

 A) ₹ 36  B) ₹ 44  C) ₹ 30  D) ₹ 40 

68. If 2 men and 8 women can do a piece of work in 5 days while 3 men and 4 women can do 
the same work in 6 days, then the time taken by 1 man and 2 women in doing the same work 
is…………    

 A) 18 days   B) 20 days   C) 15 days   D) 12 days 

69. A  is chasing  B.  In the same interval of time, A  jumps  8 times, while  B  jumps  6  times.  
But the  distance covered by  A  in 7 jumps is the same as that of  B  in 5 jumps.  The ratio 
between the speeds of  A  and  B is ………..    
A  B A B

A B A  B

 
 A) 32 : 24  B) 30 : 56   C) 20 : 21  D) 28 : 36 
 

70. What should come in place of question mark (?) in the following number series?  
  

59, 101, 131, ?,  163, 169, 171      
 A) 155   B) 154   C) 150   D) 151   
 

Directions (Q.71-72) Following Pie Chart shows expenditure on different items (in  degree) in 
construction of a flat in New Delhi.  Study the pie chart and answer the following 
questions 

 
Total Expenditure = 43,20,000              Expenditure on different items 

 
 
 
 
 
 
 
 
 
 
 
 

 

71. Find the difference in expenditure on cement and bricks together and painting and furniture 
together  

  
 A) 6,40,000  B) 7,50,000  C) 6,50,000  D) 7,20,000 
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72. Find the average expenditure of labour, cement and furniture. 
 

 A) 5,00,000  B)  6,00,000  C) 7,00,000  D) 4,00,000  
 

73. Numbers  A  and B  are 20%  and  50%,  more  than the number  C.  The ratio  of  A  to that 
of  B  is : 

 A B C % % A B 
 A) 4 : 5  B) 13 :15  C) 15 : 13  D) 5 : 4 
 

74. 8 %  of  36 is  72%  of which number ? 
 % %  

 A) 3    B) 4    C) 5    D) 6 
 

75. Let a  bag contain  2 kg.  of sugar and 3 kg. of  salt.  What per cent  of total is occupied by  
sugar? 

 kg. kg.  
 A) 35 %  B) 30 %   C) 50 %   D) 40 %  
 

76. The service  book  is a : 
 A)  Book, which describes  the service   rules of permanent government  employees. 

B)  Record of compulsory duties to be provided  by some  of the permanent Government  
              Employees. 

C)  Book which  contains the list of duties of all the permanent government employees in an  
              Office. 

D) Permanent official record which must be maintained for every permanent government  
             Employee. 

A)
B)

 C)
 D)
 

77. In government offices, A.C.R. is the abbreviation of : 
A.C.R

 A) Annual Confidential Record   B) Annually Corrected Reply  
 C) Annual Confidential Report   D) Annually Confirmation Report 
 

78. A.C.R. is written annually : 
 A) by an employee himself /herself and put up to the Reporting Officer. 
 B) by immediate superior of the employee, who is designated as Reporting Officer. 
 C) by only the Head of the Departments. 
 D) by the junior employees for their seniors. 

A.C.R
A)
B)
C)
D)

 

79. Which of the following is not correct in connection with Demi-official (D.O.) Letter ? 
A)  This is generally used in correspondence between Government Officers for an inter-   
      change  or communication of opinion or information without the formality of the      
       prescribed procedures. 
B)  This is also used when it is desired that the matter should receive personal attention of  
       the individual addressed. 
C)  Communications to non-officials can also take the form of a Demi-official letter.  
D)  Demi-official letter is generally used by officers to have conversation with his friends on               
       social and political problems. 
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D.O

A)

 B)

  
 C)   
 D)

 

80. Which one of the following is correct in relation to official note ?  
 A) A good note is one which leaves some points unanswered so that personal discussion  
                 with the dealing officials becomes necessary 
 B) A good note highlights the negative facts so that the case may be rejected 
 C) A good note is having the long sentences explaining whole story of the case 
 D) A good note is concise and to the point free from verbose expressions 
 

A)

    
 B)

 C)   
 D)
 

81. Which one of the following is correct in relation to ‘Drafting’ ? 
 A) Drafting is done to keep the dealing official busy doing official work. 
 B) Drafting is an opportunity given to the dealing official to express his personal feelings. 
 C) Drafting is the process of preparing rough copy of communication, which is intended to  
                 be issued to convey the decision or views of competent authority. 
 D) Drafting is done to repeat the views of competent authority several time so the recipient  
                  may come to conclusion what he thinks to be appropriate. 
 

A)  
 B)

 C)

 D)

      
 

 

82. To give effect to the reservations of posts, which of the following document is maintained 
and utilized in the government departments ? 

 A) Post-based Roster    B) Duty-based Roster 
 C) Attendance Register   D) Despatch Register 

A)     B)     
 C)     D)
83. T.D.S. is the abbreviation of : 

T.D.S  
 A) Tax Deduction Services   B) Tax Deduction at Source 
 C) Tax During Service   D) Tax Deposit Scheme  
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84. Suspension of an employee is considered to be : 
 A)  a reward  B) a punishment C) not a punishment D) an appreciation 

A)   B)    C)  D)  
 

85. Which of the following is not covered under misconduct ? 
 A) if employee is charged in daily diary report with police 
 B) if employee is connected by a criminal court 
 C) habitual late attendance 
 D) if employee is abusive or disturbs peace at the place of his employment 

A)

 B)

 C)

 D)
 

86. When two or more draft are put up on a file :  
 A) All the drafts may be bunched together with  a stapler and put up 
 B) The drafts as well as slips attached there to should be marked ‘DFAI’, ‘DFAII’ , and so      
                  on  
 C) One draft should be got approved first, and there after the next draft put up 
 D) All the drafts should be taken personally to the appropriate officer and got approved 

A)

 B) DFAI DFAII   
 C)   
 D)
 

Directions (Q. No. 87- 89) based on the following: 
 

 The monthly salary of an official is pay of Rs. 5200/- in the Pay Band PB-1 (Rs. 5,200-
20,200) with Grade Pay (GP) of Rs. 1,800/-.  The rate of Dearness Allowance (DA) is 45%  
of (Pay + Grade Pay) and House Rent Allowance (HRA) is 20% of (Pay + Grade pay). The 
City Compensatory Allowance (CCA) is Rs. 120/- per month.  Deduction of Contributory 
Provident Fund (CPF)  is at the rate of 10% of (Pay + GP + DA + CCA) in addition to the 
deduction of Rs. 30/- per month as Group Insurance Scheme (GIS). 

GP PB 

DA GP %

 GP % CCA

GIS CPF

GP DA CCA %
 

87. The Gross Salary of the official will be : 
 

 A) Rs. 11,364  B) Rs. 10,884  C) Rs. 11,670  D) Rs. 10,250 
1.  

88. Total deductions from the Gross Salary of the official will be :  
 

 A) Rs. 870  B) Rs. 915  C) Rs.1,197  D) Rs. 1,057 
 

89. The  net Salary of the official will be : 
(net salary)  

 A) Rs. 10,613  B) Rs. 10,494  C) Rs. 10,473  D) Rs. 10,449 
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90. The files coded a0q1f5p2k7z (1), a0q1f5p2j7z (2), a0q1g5q2y4z (3), and a0q1g5p2y7z (4), 
when arranged in ascending order of alphabet (A-Z) and Digit (0-9), will result in the 
following sequence: 
a0q1f5p2k7z (1), a0q1f5p2j7z (2), a0q1g5q2y4z (3), a0q1g5p2y7z (4), 

A-Z

 
 A)  (1)(2)(4)(3)   B)  (2)(1)(4)(3)  C)  (1)(2)(3)(4)  D)  (2)(1)(3)(4) 
 

91. For its three projects, an office invited tenders from 45 registered companies. For Project 1, 
25 companies gave the tenders. For Project 2, 35 companies gave the tenders, and for 
Project 3, tenders were given by 30 companies. While 10 companies gave tenders for Project 
1 and Project 2 only,  15 companies gave tenders for Project 3 only. If five companies gave 
tenders for all the three projects, then how many companies had given tenders for atleast 
two projects? 

 A) 25      B) 30     C) Data not adequate to answer the question  D) Data not consistence 

A)       B)        C)  D)
 

92. Mark odd letter group in the following letter groups. 

  A) DEGF   B) LMON   C) QPST   D) UVXW  
 

93. If each vowel in the word ‘ADJECTIVE’ is substituted  with the next letter of the English 
alphabetical series and each consonant is substituted with the letter preceding it.  How many 
vowels will be present in the new arrangement? 

 ADJECTIVE

 A) None   B) One   C) Two   D) Three 
 

Direction : (Q 94-95) Recollecting the sequence of arrivals of members of staff, the Gateman 
shared that: Ajit came earlier than Kiran but later than Gopal, while Balwinder came later than 
Daljit, but was earlier than Inderjit. The Gateman added – While Gopal came later than Daljit, but 
came earlier than Harjinder. If Balwinder came later than Gopal but earlier than Ajit, then: 

–

 

94. Who is first to reach office? 
A) Balwinder   B) Daljit  C) Gopal     D) Information is not sufficient to answer 

A)   B)  C)  D)
 
 

95. Who is last to reach office? 
A) Kiran  B) Inderjit     C) Harjinder         D) Information is not sufficient to answer 

A)  B)  C)      D)
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96. What subscription to be mentioned in the end of D.O. letter ? 
D.O.  

 A) Yours obediently     B) Yours truly 
 C)  Yours faithfully     D) Yours sincerely 

97. What are the contents in the note. 
 A) Case of problem/facts, figures, Precedents/Action    B) Linked files/figures/law opinion 

C) Precedents/Action             D) None of these 

A)      B)  
 C)            D)
 

98. The main function of the central/state information commission 
 A) Imposing of penalties   

B) To send information to the subordinates 
 C) To receive claims, conduct inquires and pass suitable orders 
 D) To give suggestions to the subordinates 

A)     
B)     

 C)     
 D)
 

99. How many meaningful English words can be formed by using letters of the word ‘ALEP’? 
ALEP

 A) One   B) Two   C) Three  D) More than three 
 

100. Why ‘Left Margin’ for the front page and ‘Right Margin’ for the 2nd Page left in the note 
files and drafts? 

 A) For writing rough         B) For calculation 
 C) For officer comments    D) For stitching without disturbing the matter and for referencing 

A)      
 B)     
 C)     
 D)
 
 

*** 
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Answer Key  
“A” Series (21.09.2025)  

 

Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans 

1 D 26 A 51 B 76 D 

2 C 27 C 52 B 77 C 

3 B 28 C 53 D 78 B 

4 A 29 B 54 A 79 D 

5 D 30 D 55 A 80 D 

6 B 31 B 56 B 81 C 

7 B 32 C 57 C 82 A 

8 A 33 D 58 A 83 B 

9 D 34 A 59 A 84 C 

10 B 35 D 60 A 85 A 

11 D 36 C 61 C 86 B 

12 A 37 B 62 C 87 C 

13 D 38 A 63 C 88 D 

14 A 39 C 64 A 89 A 

15 B 40 A 65 A 90 B 

16 A 41 B 66 B 91 A 

17 C 42 B 67 A 92 C 

18 B 43 B 68 C 93 C 

19 D 44 A 69 C 94 B 

20 B 45 D 70 D 95 D 

21 D 46 A 71 D 96 D 

22 C 47 D 72 B 97 A 

23 D 48 C 73 A 98 C 

24 C 49 D 74 B 99 D 

25 
A 
 

50 C 75 D 100 D 

 


